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Annotations

Annotation Meaning

BP Blank Page — this annotation must be used on all blank pages within an answer booklet (structured or
unstructured) and on each page of an additional object where there is no candidate response.

Slash

co Consequential error

Extendable horizontal line - Major error

Extendable horizontal wavy line — Minor error/mistranslation

Repeat/Repetition

A

Omission mark

Principles for interpreting generic descriptors for unseens

1.

CoNoOO AW

A minor error (ME) constitutes:
a. avocabulary error in an inflected word, where all endings are rendered correctly — but Serious Error when the substitution completely
ruins the sense
b. asingle error in an inflected noun or verb ending
c. the omission of a small word which does not significantly affect the meaning
d. an error in word order which affects the meaning
A serious error (SE) constitutes:
a. more than 1 minor errors in a single word
b. the omission of a significant word
c. a missed construction
Any number of errors in a single word add up to no more than one serious error
Bracketed alternatives must be ignored if correct
Incorrect irrelevances must be ignored
Award 5 marks if there is up to 1 minor error
Award 4 marks if there are up to 2 minor errors (or the equivalent)
Award 3 marks if there are 3-4 minor errors (or the equivalent) - BUT more than half the section is still correct
Award 2 marks if half the section is correct as subdivided in the standardisation notes
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10. Award 1 mark if at least one unit of sense is rendered correctly: an inflected word with all its endings correct, or a prepositional phrase; odd
words out of context cannot be awarded credit

Principles for interpreting generic descriptors for prose compaosition
1. Any single error within a word is minor
2. Any number of errors in a single word add up to no more than one serious error
3. The omission of an inflected word is a serious error — of an uninflected word a minor error
4. Accents are not expected, but breathings are:
a. add up all the wrong/missing breathings at the end of the whole question
b. ignore up to 2 wrong/missing breathing
c. 3+ wrong/missing breathings are a serious error
Award 6 marks if there is up to 1 minor error
Award 5 marks if there are up to 3 minor errors (or the equivalent)
Award 4 marks if there are 4 minor errors (or the equivalent)
Award 3 marks if there are 5+ minor errors (or the equivalent) — BUT half the sentence is still correct
. Award 2 marks if about a 3" of the sentence is correct
10. Award 1 mark if at least one word is completely correct

©oNoOO

Marking guidance
Draw a slash at the end of a section only where there is ambiguity as to where the section ends

2. Use a caret mark to indicate omissions

3. Underline a minor error with a wavy line, a serious error with a straight line, use CON for consequential errors, REP for repeated errors,
highlight wrong or missing breathings

4. Long incorrect sections may be underlined once

5. Insert a double caret at the end of question 3 if deducting a mark for 3+ wrong/omitted breathings
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Section A
Question Answer Mark Guidance
Content Levels of response
The passage has been [5] Correct translation (as
divided into 14 sections each | agreed at standardisation)
worth 5 marks. Award up to 5 | with one minor error allowed.
marks per translated section
according to the 5-mark [4] One serious error or two
marking grid. minor errors, otherwise the
meaning is conveyed.
This is not a definitive [3] Most of the meaning
translation. Acceptable conveyed, but several errors.
alternatives will be discussed
at standardisation, but [2] Half the meaning
examiners should be ready conveyed, the rest seriously
to accept any translation that | flawed
accurately renders the
meaning. [1] A minority of meaning
conveyed
1 l év ) NueTéoa oikia v VTEEOV! 11, kal 6 DiAmrog elxe | D Mévor — accept [0] No elements of meaning
TOUTO OTOT &€V TMOAEL HEVOL, AVT)Q AyaBog kal PpIAog T@ should/would/might stay conveyed; no relation to
. . , , . Latin/Greek at all
NUETEQW TTATOL. dtAog — accept dear/friendly
_ - N.B. Consequential errors
In our house there was an upstairs room, and Philippos held should not be penalised.
it whenever he stayed in the city, a good man and a friend
of our father’s.
i 5 Accept ‘to’, ‘for’ Philip

Katl NV 1@ PN maAAakn?, fv émt topvetov® épeAde
KATAOTNOAL.

And Philippos had a concubine, whom he was intending to
place in a brothel.

In the brothel — ME
The concubine — ME
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Question Answer Mark Guidance
Content Levels of response
li. | TV 00V 1) éur) unTeuld® émoinoe GiAnv. pabovoa d’ 5 ®{Anv - ‘dear’ - ME
OtL €peAdev adkeloBat VO TOL PALTTTIOL, éueAAev —note REP from ii
‘made her acquaintance’ -
Therefore, my stepmother made friends with her. Finding ME
out that she was about to be wronged by Philippos,
V. | petaméumetal abty, kai émel NAOev, EAeev avt) tikal | 5 adwotto — ‘she
avTN AdLKOLTO VTIO TOV T|UETEQOV TTATEAG. might/would/had been
injured” — ME; Note REP
she sent for her, and when she came, she told her that she from iii
herself was also being wronged by our father.
V. | el oDv ¢0éAeL melBeoBay, €Pn duvaoBal pagudkw® Tov te | S ®i{Aov —note REP from i, iii
diAmtrtov Gpidov Eielvn Tomoat Kol Tov EHOV taTéa AVvvaoBal — accept ‘it was
éauTi). possible’; She would, should
be able - ME
If therefore she was willing to obey, she said that she was baouakw - accept ‘for a
capable of making both Philippos love her and my father drug’ if dovaca is
love herself with a drug. .
rendered impersonally
Vi. | focta 00V adTv el é0€AeL dovvat TO GAQUAKOVE, 5 avTnv — omitted - ME
Therefore, she asked her if she was willing to give the drug,
Vil. | kai éxetvn Oéoxeto TéxLOTA, O olpAL. 5 olpat — ignore
Taxwota — must be
and she promised very quickly, as | believe. superlative; ‘as quickly as
possible - ME
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Question Answer Mark Guidance
Content Levels of response
Viii. | peta tavta 6 Oidmmog étuxe OVwv T Al év TTepatet oLV | S ¢ueAdev — note REP from
T TaAAaKn?, 6 0¢ o O €uog eig Na&ov mAety ii/iii
EUeAAEV.
After this, Philippos happened to be sacrificing to Zeus in
Peiraeus with the concubine, and my father was intending to
sail to Naxos.
IX. | xad émei fjoav v @ Tepatel, 1 TaAAakn)? ¢BovAeveTto 5
And when they were in Peiraeus, the concubine considered
X. | 6mws &v avtols o Ppdopakove doin, motega? eod delmvov | S Missed Indirect question— SE
1) et deimvov. TQO - ‘instead of — ME
peto - ‘with” — ME
how to give them the drug, whether before dinner or after note REP for ‘dinner’
dinner.
Xi. | &€do&ev o0V avT) dpevov elvat pet delmvov dovvadl. S) peta - note REP from x
dovvat — note REP from vi
Therefore it seemed better to her to give it after dinner. &uewvov — expect
comparative
Xii. | kal mAéov ddwot 1@ PAinTw, olopévn lowg dtL el doin 5 olopévn — accept any
TtAéov, uaAAov PrAnOnoetat OO ToL PLAintTTov. participle
ntAéov — note REP errors
And she gave more to Philippos, thinking perhaps that if she nAéov - ‘a sailing’ — ME; any
gave him more, she would be loved more by Philippos. other noun — SE
Xiil. | 1 d¢ matol T ueTéow EAacoov Edwkev. O uEv ovv S £dwikev — ‘it seemed’ — SE
diAimtrtog eVOUVG amoOvrokel,
But to our father she gave less. Therefore, Philippos died
immediately,
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Question Answer Mark Guidance
Content Levels of response
Xiv. 5 ueta - ‘in” — OK; “within” —

0 & MATNQE O NUETEQOG €L VOTOV EUTECWV HETA EIKOOTLY
Nuéoag dmwAeto.’

whereas our father fell into a disease and died after twenty
days.

ME
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Section B
Question Answer Mark Guidance
Content Levels of response
2 The passage has been [5] Correct translation (as

divided into 6 sections each
worth 5 marks. Award up to 5
marks per translated section
according to the 5-mark
marking grid.

There are many acceptable
ways of translating the above
sentences into correct Greek.
Acceptable alternatives will
be agreed at standardisation,
but examiners should be
ready to accept any Greek
that accurately renders the
meaning.

émet 0¢ ovvnABov, émwetac 6 Twifalog ta PaciAéwe 5
onUela! AVeYLYVWOKe TX YEYQAUUEVA. elxe O€ WE.

When they were assembled, Tiribazos, the King's envoy
showed them the King’s seal and read out what had been

written; it was as follows:

I'eyoapuéva —‘terms” - ME;
‘writings’ - OK; ‘writing’ — OK
aveylyvwoke — accept any
tense

"Apta&épEng PaciAeve voullet dlkalov TAG eV €V i) 5
Aoia moAelg éavtov etvat kal tov vijowv KAalopevag

kat Kompov,

King Artaxerxes thinks it is just that the cities in Asia
should be his, and from the islands Clazomenai and

Cyprus,

TV Vijowv - genitive
partitive missing — ME
Atkawov - ‘justly’ - ME

agreed at standardisation)
with one minor error allowed.

[4] One serious error or two
minor errors, otherwise the
meaning is conveyed.

[3] Most of the meaning
conveyed, but several errors.

[2] Half the meaning
conveyed, the rest seriously
flawed

[1] A minority of meaning
conveyed

[0] No elements of meaning
conveyed; no relation to
Greek at all

N.B. Consequential errors
should not be penalised.
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Question Answer Mark Guidance
iii TG 8¢ dAAag EAANVIdaG OAELS kKad HIKQAS kal peydAag | O O¢ omitted - ME
aVTOVOHOULG elval
and that the other Greek cities, both small and great,
should be left independent,
IV | ATV Ajuvou kadi "Tupoov kai Zivgov: tavtag d¢ omeg | 5 WOTEQ TO AQXALOV — ignore
T0 dpxailov eivat AOnvaiwv. AOnvaiwv - ‘of Athens’ -
OK; ‘Athenian’ — ME
except Lemnos and Imbros, and Scyros; and that these
should belong, as of old, to the Athenians.
v OTOTEQOL D¢ TAVTNV TV ElQVNV U1) déxovTay, 5
But whichever of the two does not accept this peace,
Vi | to0T01S ¢y TOAEUNOW PeTd TV TadTa BOLAOUEVWV Kal | D HETA TV TAVTA
nten) kal kata O&xAattav kat vavol kat xerjpaowy.” BovAouévwv -1 SE if wrong
tovtolg omitted — SE
upon them | will make war, together with those who wish
these things, both by land and by sea, both with ships and
with money.




F371 Mark Scheme June 2014
Question Answer Mark Guidance
Content Levels of response
3 Each sentence is worth 6 [6] Correct translation (as
marks. Award up to 6 marks | agreed at standardisation)
for each sentence according | with one minor error allowed.
to the 6-mark marking grid.
[5] Minor errors only in
There are many acceptable syntax or accidence.
ways of translating the
English sentences into [4] Rather more errors, but a
correct Greek. One example | good proportion of sentence
for each sentence is given. correct.
Acceptable alternatives will
be agreed at [3] Around half the accidence
Standardisation, but and syntax correct.
examiners should be ready
to accept other versions that | [2] Accidence and syntax
accurately render the seriously flawed
meaning into Greek.
[1] A very little correct Greek
a In the tenth year the general sent away the priest of the 6 Ignore ‘tenth’
god. Accept genitive of time [O] No correct Greek at all
tw dekatw etei 0 strathgo~ apepemye ton tou geou
ierea .
b The disease was so terrible that many soldiers died. 6 ‘was’ omitted — OK
h noso~ outw deinh hn wste polloi stratiwtai apeganon.
c The brave man said that he would lead the companions. 6 Accept — ‘young man’ for
‘man’
0 andreio~ anhr efh tou~ etairou~ axein.
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Question Answer Mark Guidance
Content Levels of response
d When the friend died, the god made new weapons. 6
tou Filou apoganonto~, o geo~ epoihse nea opla.
e The Greeks defeated the enemy, although they suffered 6 Kaiper + correct indicative —

many bad things.

oi Ellhne~ enikhsan tou~ polemiou~ kaiper polla kaka
pagonte~.

ME

10
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